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6. Let 𝐴𝐴 = {1, 2, 3, 4, 5, 6}, 𝐵𝐵 = {1, 3, 5}, 𝐶𝐶 = {1, 6}, 𝐷𝐷 = {4}. Specify each set. 
 a) 𝐵𝐵 ∩ 𝐴𝐴  b) 𝐴𝐴 ∪ 𝐵𝐵    c) 𝐴𝐴 ∩ 𝐷𝐷  
 d) 𝐵𝐵 ∩ 𝐶𝐶  e) 𝐵𝐵 ∪ 𝐶𝐶 ∪ 𝐷𝐷   f) 𝐴𝐴 ∩ ∅ 
 g) 𝐷𝐷 ∪ ∅  h) 𝐵𝐵 \ 𝐶𝐶    i) 𝐶𝐶 \ 𝐷𝐷 
 
7. Express each set in the simplest interval form. 

a) (−∞,−1] ∩ [−4,∞)   b) (−∞,−6) ∩ [−4,∞) c) (−∞, 3) ∪ (−∞,−2)  
d)   [3, 6] ∪ (4, 6)   e) (−∞, 5] ∩ (−3,∞) f) (−∞, 3] ∩ [3,∞) 
g) (−7, 5] ∩ (−∞, 6)   h) (−7, 5] ∪ (−∞, 6)  i) [1, 4) ∪ (2, 6] 

 
8. For each compound inequality, give the solution set in both interval and graph form. 

a) 𝑥𝑥 + 5 ≤ 11  𝑎𝑎𝑎𝑎𝑎𝑎   𝑥𝑥 − 3 ≥ −1  b) 𝑥𝑥 + 1 > 3   𝑜𝑜𝑜𝑜   𝑥𝑥 + 4 < 2  

c) � 3𝑥𝑥 − 4 ≤ 8
−4𝑥𝑥 + 1 ≥ −15   d) −2 < 1−3𝑥𝑥

−2
< 7    

e) 2 ≤ 4 − 1
2

(𝑥𝑥 − 8) < 10   f) 4𝑥𝑥 + 1 ≥ −7   𝑜𝑜𝑜𝑜  − 2𝑥𝑥 + 3 ≥ 5   
g) 𝑥𝑥 < 5   𝑜𝑜𝑜𝑜   𝑥𝑥 < −3   h) 𝑥𝑥 < 5   𝑎𝑎𝑎𝑎𝑎𝑎   𝑥𝑥 < −3   
i) −3𝑥𝑥 ≤ −6   𝑎𝑎𝑎𝑎𝑎𝑎  − 3𝑥𝑥 ≥ 0   j) 𝑥𝑥 + 1 ≥ 5   𝑜𝑜𝑜𝑜   𝑥𝑥 − 2 < 10 
k) 7−3𝑥𝑥

5
< −4   𝑜𝑜𝑜𝑜  7−3𝑥𝑥

5
> 4      

 
9. Discussion: If −𝑥𝑥 is between 𝑎𝑎 and 𝑏𝑏, then what can you say about 𝑥𝑥? 

 
10. Discussion: For which of the inequalities is the notation used correctly? 

a) −2 ≤ 𝑥𝑥 < 3 b) −4 ≥ 𝑥𝑥 < 7 c) −1 ≤ 𝑥𝑥 > 0 
d) 6 < 𝑥𝑥 ≤ −8 e) 5 ≥ 𝑥𝑥 ≥ −9 f) 3 < 𝑥𝑥 < −1 

 
11. The formula 𝐶𝐶 = 5

9
(𝐹𝐹 − 32) can be used to convert Fahrenheit temperatures 𝐹𝐹 to Celsius 

temperatures 𝐶𝐶. Gold is a liquid for Celsius temperatures 𝐶𝐶 such that  1063° ≤ 𝐶𝐶 < 2660°.   
Find such an inequality for the corresponding Fahrenheit temperatures. 
 

12. State: 
a) The set of expenses that are greater than 

$10000 for private schools or greater than 
$4000 for public schools. 

b) The set of expenses that are less than 
$10000 for private schools and more than 
$4000 for public schools 
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13. Groupwork:  

With partner, discuss how you can solve the following inequalities and then solve them.  
a) −4𝑥𝑥 < 2𝑥𝑥 − 18 < −𝑥𝑥 b) 7𝑥𝑥 − 5 ≤ 4𝑥𝑥 − 3 ≤ 8𝑥𝑥 − 3  


